(A1 - ETFH)

TS FEIE (9 A) ERSRHER

(%)
&g BRFEA9 T H PE SRR AT TR Ak
wtk 2 R 5 AR T RRBRA FKESZERDISEHIE TR (B2 5

AN 5 AR T RARBRON T /KIE S5 3R 2 F T IE T 5

(5 275) OWFE

X, RO LB TY,

e | MIERR 8 7 477 7 TH DA
TR —— —
i Nk TR R 28 T33858TH
LN (A7 . FH)
FH R FHEFA HHIE4A EoF4L R A H 7
B0 TR A A ] B 5 4 A 3,650 F/KiEE [l e A B 4
(29, 650—26, 000)
R R A4 A 1,197 FKEZE — AR FHR AL
(136, 888—135, 691)
HR T HE i A A A 3,900 F/AKEE FHE
(77, 300—73, 400)
g A 8,747
il GRfr - TH)
FH R THEEE - F¥EA4 THIE%E FEOMIRNR N oy
- I 1 F 1— 114% 5 — 5
TR A R e =N o b
TG A AH ) RUAR A X ~DHX A Y ASHFLE
(12, 431—12, 436)
T IT 1IF 1— 12% 100| —f4 100
= TR TE fE AR TAGEE FPEHSIN S F S Rtk (5Fn 4 )
iS¢ OWRFIHE D K4

(5, 654—5, 754)




FH 8 THEREE - HEAL P e FEDATRNER W w
R —H
g IF 2F 1F 14T A 14,852 E,\a“ A 7,302 s T e 5 s
T % A\ 3, 650| F/KIEE AT Z TR
(82, 917—68, 065) Fif A 3,900
Y IF 3F 14 105 3,000 —Jif 6, 000
= TN TR B R | 14T 3, 000 INAEE TR B OVA L F S R
i ¢ THOIEHIEIMAE 5 %
(22, 701—28, 701)
INEE A\ 8,747
1M 1F 1— = 13k FKE#H A FTKEREE 1H e
IF 2F 1IF = 13 F/kE#H 21 FAKEEHRE 1H FTAKESRE
I 3F 14 = 13k T/KE#H 3H TKEEHE 1H ALTKEEHE




